

February 17, 2022

Ms. Nancy Marconi Acting Registrar Ontario Energy Board 2300 Yonge Street P.O. Box 2319 Toronto, ON M4P 1E4

Re: Ontario Power Generation 2022 to 2026 Payment Amounts

Board File No. EB-2020-0290 - AMPCO Cost Claim

Attached please find AMPCO's cost claim for the above proceeding. OPG's application was vast and complex, covering five years of revenue requirement (2022-2026). AMPCO aimed to focus its efforts on the key cost drivers and material issues that contributed the most to the proposed increase in Nuclear Payment Amounts over the Test Period. AMPCO was active in all key aspects of the proceeding including written interrogatories, technical conference, settlement conference, issues day, motions day, oral hearing and written submissions.

On an ongoing basis throughout the proceeding, AMPCO worked collaboratively with other intervenors to deliberate the issues, avoid duplication and increase efficiency. AMPCO undertook a key role on nuclear capital projects and rate base additions, and a lead role on the D2O project which involved doing an in-depth review of the evidence in the current and past proceedings. AMPCO filed the majority of interrogatories on the D2O project and undertook a comprehensive and detailed analysis of the project and OPG's management of the project. AMPCO was contributory to the OEB's determination that SMR-related costs are within scope.

With respect to the unsettled issues, which included the D2O project, AMPCO worked closely with the Consumers Council of Canada, sharing Counsel for cross examination and submitting a joint Final Argument. AMPCO/CCC took the lead on the D2O issue which resulted in limited cross examination from other parties. Working together increased our joint understanding of the issues, facilitated detailed submissions and resulted in reduced costs for both AMPCO and the Council.

P. 416-260-0280

F. 416-260-0442

Best Regards,

Colin Anderson President

Copy to: Ontario Power Generation Inc.

EB-2020-0290: 1: Shelley Grice

SUBMISSION DEADLINE DATE **CLAIM STATUS COST CLAIM NUMBER**

February 17, 2022 Approved by Finance 195

EB# OTHER EB#S PHASE #*

EB-2020-0290: Rates: Generation: Ontario Power

Generation Inc.

INTERVENOR COMPANY*

INTERVENOR TYPE Association of Major Power Grice, Shelley; +1 (647) 880-9942 Consumers in Ontario, Toronto: Full Registrant shelley.grice@rogers.com

Institution

EXCHANGE RATE COUNTRY HST RATE ONTARIO

13.00

INTERVENOR

LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE HST NUMBER

February 25, 2022 R137667424

PARTICIPANTS

Participant Total (\$) Claim Status Non-Filing Participant First, Last Name **Filing Participant**

No 130.515.00 Submitted Grice, Shelley; +1 (647) 880-9942

shelley.grice@rogers.com

ATTACHMENTS

Claim **Attachment Document Import** Date Type Type **Attachment Participant** Message

AMPCO EB-2020-0290 Cost Claim 021720222341.pdf

AMPCO_CovLTR_OPG_0290.pdf Cover Letter

TOTAL LEGAL/CONSULTANT/OTHER FEES TOTAL DISBURSEMENTS TOTAL HST 115,500.00 0.00 15,015.00

TOTAL CLAIM TOTAL AMOUNT AWARDED

130,515.00

REASON FOR **REASON FOR REASON FOR DISALLOWANCE** DISALLOWANCE - 2 **DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO

Association of Major Power Consumers in Ontario

SEND PAYMENT TO ADDRESS **ATTENTION** Fareeda Heeralal

65 Queen St W Suite 1510 Toronto, ON M5H 2M5

SUBMIT SECTION

Shelley Grice

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY DATE SUBMITTED

February 17, 2022

Shelley Grice

CASE **COST CLAIM**

EB-2020-0290: Rates:

EB-2020-0290: 1: Shelley Grice

INTERVENOR NAME

Grice, Shelley; +1 (647) 880-9942

shelley.grice@rogers.com

PARTICIPANT CLAIM STATUS

Submitted

NON-FILING

FILING PARTICIPANT

Generation Inc.

Grice, Shelley; +1 (647) 880-9942

shelley.grice@rogers.com

Generation: Ontario Power

No

NEW **PARTICIPANT**

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

HOURLY RATE

HST RATE

CHARGED

13.00

330

SERVICE PROVIDER TYPE

Consultant

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE**

23

CV STATUS (FOR

HEARINGS

CONSULTANT/ANALYST)

CV Provided within Previous 24 Months

HEARINGS

Yes

LAST CV DATE February 16, 2022

YEAR CALLED TO BAR

CONSULTATIONS

No

DISBURSEMENTS

No

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence						
Review Application and Evidence	20.50	330	6,765.00	13.00	879.45	7,644.45
Discovery						
Preparation of Interrogatories	63.00	330	20,790.00	13.00	2,702.70	23,492.70
Review Interrogatory Responses	34.50	330	11,385.00	13.00	1,480.05	12,865.05
Technical Conference Preparation	19.25	330	6,352.50	13.00	825.82	7,178.32
Technical Conference Attendance	28.00	330	9,240.00	13.00	1,201.20	10,441.20
Technical Conference Follow Up		330		13.00		
ssues List						
Preparation	1.50	330	495.00	13.00	64.35	559.35
Attendance at Issues Conference	3.75	330	1,237.50	13.00	160.88	1,398.38
ntervenor Evidence						
Preparation		330		13.00		
Interrogatory Responses		330		13.00		
Preparation of Witness(es) for Attendance		330		13.00		
at Hearing						
Settlement Conference / ADR						
Preparation	31.00	330	10,230.00	13.00	1,329.90	11,559.90
Attendance	37.75	330	12,457.50	13.00	1,619.48	14,076.98
Preparation of Settlement Proposal	4.25	330	1,402.50	13.00	182.32	1,584.82
Attendance at Presentation to Panel		330		13.00		
Oral Hearing						
Preparation	29.25	330	9,652.50	13.00	1,254.82	10,907.32
Attendance at Oral Hearing	22.50	330	7,425.00	13.00	965.25	8,390.25
Submissions						
Written Submissions	38.75	330	12,787.50	13.00	1,662.38	14,449.88
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
Other Attendance						
Other Attendance	3.75	330	1,237.50	13.00	160.88	1,398.38
Communication						
With Client		330		13.00		
With Other Parties		330		13.00		
Motions						
Preparation of Motion(s) Materials	6.00	330	1,980.00	13.00	257.40	2,237.40
Prepare Submissions on the Motion(s)		330		13.00		
Attendance at Hearing on Motion(s)	3.00	330	990.00	13.00	128.70	1,118.70
Confidentiality						,

Preparation of Application for		330		13.00		
Confidentiality						
Prepare Submissions on Confidentiality		330		13.00		
Attendance at Hearing on Confidentiality		330		13.00		
Decision						
Review	2.25	330	742.50	13.00	96.52	839.02
Rate Order						
Review	1.00	330	330.00	13.00	42.90	372.90
Prepare Submission on Rate Order		330		13.00		
Total Service Provider Fees						
Total Service Provider Fees:		1	115,500.00		15,015.00 13	30,515.00

Attachments

<u>Attachment Document Type Import Message</u>

AMPCO_Timesheets_OPG_0290.pdf AMPCO_Invoices_OPG_0290.pdf Time Docket Invoice

Hearings, Consultations, Disbursements Attachments

Related Disbursement Claim

Attachment

AMPCO_Timesheet
s_OPG_0290.pdf

AMPCO_Invoices_O
PG_0290.pdf

<u>Document</u>

Type Claim Type
Time Docke Hearings

Invoice Hearings

Import Message

Shelley Grice			
PROJECT TIME		DATE	INVOICE
EB-2021-0290		2021-03-22	#A22-03
	neration 2022-2027 Payment Amounts		
PROJECT TIME SHE	ET		
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2021-01-22	Review & consider application; call w/client; prepare AMPCO strategy document for AMPCO BOD	Discovery - Review Application	1.50
2021-01-24	Review & consider application; prepare AMPCO Letter of Intervention	Discovery - Review Application	0.50
2021-01-29	Call w/client re: input to AMPCO strategy: Review & consider application	Discovery - Review Application	2.00
2021-02-09	Review & consider application	Discovery - Review Application	1.50
2021-02-19	Review PO#1, Call w/client re application re: schedule & work plan	Discovery - Review Application	0.75
2021-03-01	Review & consider application	Discovery - Review Application	1.00
2021-03-02	Review & consider application	Discovery - Review Application	3.50
2021-03-03	Review & consider application	Discovery - Review Application	5.50
2021-03-04	Review & consider application	Discovery - Review Application	4.25
2021-03-05	Review & consider application	Discovery - Preparation of Interrogatories	6.50
2021-03-08	Review & consider application	Discovery - Preparation of Interrogatories	4.25
2021-03-09	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	1.50
2021-03-10	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	5.00
2021-03-11	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	3.00
2021-03-12	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	3.00
2021-03-14	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	3.00
2021-03-15	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	4.00
2021-03-16	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	2.00
2021-03-17	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	3.75
2021-03-18	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	5.00
2021-03-19	Review & consider application; Call w/ client re SMR; Prepare interrogatories	Discovery - Preparation of Interrogatories	2.50

2021-03-20	Review & consider application; Prepare	Discovery - Preparation of	5.50
	interrogatories	Interrogatories	
2021-03-21	Review & consider application; Prepare interrogatories	Discovery - Preparation of Interrogatories	6.00
2021-03-22	Review & consider application; Finalize & File interrogatories	Discovery - Preparation of Interrogatories	8.00
		Total	83.50

Shelley Grice			
PROJECT TIME S	HEET	DATE	INVOICE
E B-2021-0290 2021-04-23 Project time shei		2021-08-03	#A22-04
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2021-04-15	Discussion w/ AMPCO Analyst (S. Mei) re OPG Forecast Production compared to historical forecasts/actuals; Review OEB Decision on OPG Confidentiality Request	Discovery - Review interrogatory responses	0.50
2021-04-20	Review interrogatory responses & OPG Refusals; Review basis of 16 AMPCO interrogatories w/refusals (mostly D2O & SMR); call w/client; emails; OPG Test Session	Discovery - Review interrogatory responses	5.00
2021-04-21	Review interrogatory responses; Review OEB & OPG correspondence; Review OEB Staff Refusals Letter; Draft AMPCO Letter re Refusals; discuss w/client; emails w/SEC & CME re meeting; Review Audit List & make recommendations	Discovery - Review interrogatory responses	5.00
2021-04-22	Review interrogatory responses; Finalize AMPCO refusals letter w/client re 10/16 refusals; Review intervenor correspondence re IR refusals; meeting w/SEC & CME re refusals meeting; emails w/client; Call w/ M. Rubenstein (SEC); Review schedule	Discovery - Review interrogatory responses	4.00
2021-04-23	Attend Interrogatory Refusals Meeting; emails; call w/client	Other Attendance	3.75
2021-04-23	Review interrogatory responses	Discovery - Review interrogatory responses	3.50
2021-04-26	Discuss AMPCO comments re: Proposed Issues List w/client; emails	Issues List - Preparation	0.50
2021-04-28	Review interrogatory reponses; Review letters re Technical Conference; Review comments re: Proposed Issues List; Prepare Letter re: AMPCO areas of focus w/time estimates	Discovery - Review interrogatory responses	5.50
2021-04-29	Review interrogatory responses; Review PO#2 and OEB Decision on Motion	Discovery - Review interrogatory responses	4.50
2021-04-30	Prepare for Technical Conference; Review OPG panel info	Discovery - Review interrogatory responses	6.50
2021-05-01	Prepare for Technical Conference; Prepare questions; Review OPG panel details & proposed schedule	Discovery - Technical Conference Preparation	6.50
2021-05-02	Prepare for Technical Conference; Review OPG evidence update and remaining interrogatories filed; Review intervenor correspondence	Discovery - Technical Conference Preparation	6.00

2021 25 22	T., 1= 1 . 10	I	
2021-05-03	Attend Technical Conference Day 1/Panel 1	Discovery - Technical	7.75
		Conference Attendance	
2021-05-04	Prepare for Panel 2; Call w/M. Rubenstein (SEC);	Discovery - Technical	2.50
	Review intervenor comments on Draft Issues List	Conference Preparation	
2021-05-05	Prepare for Technical Conference Panel 2; Review	Discovery - Technical	3.00
	intervenor comments/proposed changes to Draft	Conference Preparation	
	Issues List		
2021-05-06	Attend Technical Conference Day 2/Panel 2	Discovery - Technical	7.75
	, .	Conference Attendance	
2021-05-06	Prepare for Panel 3; Review CME correspondence	Discovery - Technical	1.25
		Conference Preparation	
2021-05-07	Attend Technical Conference Day 3	Discovery - Technical	7.25
	,	Conference Attendance	
2024 25 42	Attand Tasks ind Confessor D. 1/2 1/2	Diagona T. I. I. I.	F 25
2021-05-10	Attend Technical Conference Day 4/Panel 3	Discovery - Technical	5.25
	(incamera); review/emails	Conference Attendance	
2021-05-12	Discussion w/client re Motions Day	Motions - Preparation of	0.50
		Motion Materials	
2021-05-13	Discuss AMPCO modified language for Draft Issues	Issues List - Preparation	0.50
	List re: SMRs; Review PO#3; Provide input letter re		
	partial agreement on issues list		
2021-05-14	Review materials & finalize rationale in AMPCO	Motions - Preparation of	3.00
2021-05-14		Motion Materials	3.00
	letter re: Motions Day Hearing re AMPCO	Motion Materials	
	Interrogatories & Undertakings at Issue; Review		
2021-05-17	updated interrogatories Prepare for Issues Day Conference w/client	Issues List - Preparation	0.50
2021 03 17	Trepare for issues bay conference wy cheffe	133de3 List Treparation	0.50
2021-05-18	Attend Issues Day Conference	Issues List - Attendance at	3.75
2022 00 10	, ttena issues zu, comercine	Issues Conference	0.75
2020-05-20		Motions - Preparation of	2.50
	w/client re Motions Day; Review Decision on Issues	Motion Materials	
	List; ; Review correspondence confidentiality; emails		
2021-05-21	Attend Motions Hearing	Motions - Attendance at	3.00
2021 03 21		Hearing on Motions	5.00
2024 05 24	Call w/M Pubonctoin /CFC) rou intermed an acceptant	_	0.50
2021-05-21	Call w/M. Rubenstein (SEC) re: intervenor meeting to		0.50
	discuss issues	Conference/ADR -	
2024 05 24	Call w/M Bubonstoin /CCC) to rought an areas	Preparation Sottlement	2.00
2021-05-24	Call w/M. Rubenstein (SEC) re reports on record;	Settlement	2.00
	Review evidence from 0152; Review undertaking	Conference/ADR -	
	responses	Preparation	
2021-05-25	Call w/M. Rubenstein re audit reports; Review	Settlement	2.25
	evidence & prepare for intervenor meeting	Conference/ADR -	
		Preparation	
		·	

2021-05-26	1-05-26 Intervenor Meeting re Settlement; Prepare for ADR Settlement Conference/ADF Preparation		3.00
2021-05-27	Review OEB Motions Decision; emails w/client & intervenors	Settlement Conference/ADR - Preparation	0.50
2021-05-31	Review undertaking reponses; Review & consider confidential documents; Review Board Staff Expert Evidence; make notes for ADR	Settlement Conference/ADR - Preparation	2.50
2021-06-01	Review & analyze capital & D2O evidence; prepare AMPCO positions; discuss w/client; call w/M. Rubenstein (SEC)	Settlement Conference/ADR - Preparation	2.75
2021-06-02	Review & analyze evidence; prepare for ADR; call w/M. Rubenstein (SEC)	Settlement Conference/ADR - Preparation	2.00
2021-06-03	Review & analyze evidence; prepare for ADR; call w/SEC & Board Staff; review TC undertakings	Settlement Conference/ADR - Preparation	2.00
2021-06-04	Prepare for Settlement Conference; Calls w/ M. Buonaguro & J. Girvan re D2O Project & AMPCO Analysis; Call w/M. Rubenstein (SEC) & C. Anderson (AMPCO); Emails w/SEC & CME re Audit Reports; calls w/client; emails; Review pre-ADR questions	Settlement Conference/ADR - Preparation	2.75
2021-06-05	Write up analysis re key cost drivers; call w/M. Rubenstein (SEC)	Settlement Conference/ADR - Preparation	2.00
2021-06-06	Prepare for Settlement Conference; Review undertakings; Call w/M. Rubenstein (SEC)	Settlement Conference/ADR - Preparation	4.00
2021-06-07	Attend Settlement Conference; emails w/CCC re nuclear production forecast	Settlement Conference/ADR - Attendance	8.50
2021-06-07	Prepare for Settlement Conference Day 2 (analyze other revenues)	Settlement Conference/ADR - Preparation	0.75
2021-06-08	Attend Settlement Conference	Settlement Conference/ADR - Attendance	5.75
2021-06-09	Attend Settlement Conference; Review undertakings	Settlement Conference/ADR - Attendance	7.00
2021-06-10	Attend Settlement Conference	Settlement Conference/ADR - Attendance	5.75
2021-06-10	Detailed discussion re Settlement w/ M. Rubenstein	Settlement Conference/ADR - Preparation	1.00

2021-06-11	Attend Settlement Conference; analysis; emails; call w/M. Rubenstein	Settlement Conference/ADR - Attendance	6.00
2021-06-12	Call w/M. Rubenstein re: intervenor emails on settlement; analysis	Settlement Conference/ADR - Preparation	0.75
2021-06-13	Call w/client re: Settlement & AMPCO positions; Call w/M. Rubenstien (SEC)	Settlement Conference/ADR - Preparation	1.25
2021-06-14	Attend Settlement Conference; analysis; emails	Settlement Conference/ADR - Attendance	4.75
2021-06-14	Calls w/ J. Girvan; client; M. Rubenstein	Settlement Conference/ADR - Preparation	1.00
2021-06-21	Review evidence on D2O; Prepare analysis part 1; Send analysis on D2O to CCC; emails	Oral Hearing - Preparation	4.00
2021-06-22	Call w/M. Buonaguro (CCC) re D2O hearing	Oral Hearing - Preparation	2.00
2021-06-24	Prepare D2O excel spreadsheets re costs; emails; send to CCC	Oral Hearing - Preparation	3.00
2021-06-28	Review & analyze historical D2O evidence (IRR, undertakings) in 0321 & 0152; Brief CCC; review emails OPG Settlement Agreement	Oral Hearing - Preparation	1.50
2021-07-07	Call w/M. Rubenstein (SEC); Prepare Cross Themes document for CCC based on AMPCO analysis	Oral Hearing - Preparation	3.00
2021-07-09	Call w/M. Rubenstein re Settlement Proposal	Settlement Conference/ADR - Preparation of Settlement Proposal	1.00
2021-07-13	Review & provide input on Draft Setttlement Proposal; emails w/M. Rubenstein (SEC)	Settlement Conference/ADR - Preparation of Settlement Proposal	1.25
2021-07-13	Call w/M. Buonaguro (CCC); emails	Oral Hearing - Preparation	1.75
2021-07-15	Comment on Settlement Proposal	Settlement Conference/ADR - Preparation of Settlement Proposal	1.00
2021-07-15	call w/M. Buonaguro (CCC)	Oral Hearing - Preparation	1.50
2021-07-16	Analyze costs Bates/White Report re OPG costs; Prepare excel spreadsheet to total cost tables in report: Analyze data	Oral Hearing - Preparation	1.75

2021-07-16	Sign-off on Settlement Proposal	Settlement Conference/ADR - Preparation of Settlement	1.00
2021-07-19	Prepare for hearing: Review PO#4 re Hearing; emails to CCC	Proposal Oral Hearing - Preparation	1.25
2021-07-23	Meeting w/M.Buonaguro (CCC)	Oral Hearing - Preparation	2.00
2021-07-26	Meeting w/M. Buonaguro (CCC) re cross	Oral Hearing - Preparation	2.00
2021-07-29	Review documents re: D2O; meetings w/OEB Staff & M. Buonaguro (CCC) re hearing	Oral Hearing - Preparation	2.00
2021-08-02	Prepare for oral hearing; Call w/ M. Buonaguro (CCC); Prepare AMPCO/CCC Compendium	Oral Hearing - Preparation	3.00
2021-08-03	Call w/M. Rubenstein (SEC) re hearing	Oral Hearing - Preparation	0.50
		Total	202.00

Shelley Grice			
PROJECT TIME		DATE	INVOICE
EB-2021-0290 Ontario Power Ge PROJECT TIME SHE	neration 2022-2027 Payment Amounts	2022-02-11	#A22-05
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2021-08-04	Attend Oral Hearing Day 1; look up info for CCC	Oral Hearing - Attendance	8.00
2021-08-05	Attend Oral Hearing Day 2	Oral Hearing - Attendance	8.00
2021-08-06	Attend Oral Hearing Day 3; Call w/J. Girvan re hearing & next steps	Oral Hearing - Attendance	6.50
2021-08-11	Call w/AMPCO & CCC re argument plan	Witten Submissions	0.50
2021-08-19	Conference call w/ J. Girvan & M. Buonaguro re themes & structure of AMPCO/CCC final submissions and who does what; Review OPG Argument-in-Chief; emails		2.00
2021-08-20	Review evidence; Prepare AMPCO excel tables for argument; Review undertakings	Witten Submissions	1.75
2021-08-22	Review & analyze evidence; Prepare AMPCO/CCC final submissions	Witten Submissions	5.00
2021-08-23	Review & analyze evidence; Prepare AMPCO/CCC final submissions	Witten Submissions	2.00
2021-08-24	Review & analyze evidence; Prepare AMPCO/CCC final submissions; Review undertakings	Witten Submissions	3.00
2021-08-26	Prepare final submissions; call w/ M. Buonaguro re AMPCO/CCC submissions	Witten Submissions	1.25
2021-08-27	Review & analyze evidence; Prepare AMPCO/CCC final submissions	Witten Submissions	5.00
2021-08-28	Edit sections of AMPCO/CCC final submissions	Witten Submissions	2.50
2021-08-29	Prepare AMPCO/CCC final submissions; review w/client	Witten Submissions	3.50
2021-08-30	Prepare final submissions; Send sections of argument to M. Buonaguro to review	Witten Submissions	5.00
2021-08-31	Finalize AMPCO/CCC Submission w/CCC & file	Witten Submissions	5.00
2021-11-15	Review OPG Decision; emails; discuss w/client	Decision - Review	2.00

		Total	62.25
	Amounts Order (Rate Smoothing); advise client		
2022-01-13	Review Decision and Order on Draft Payment	Decision - Review	0.25
	AMPCO Letter	Submission on Rate Order	
2021-12-06	Review Draft Payment Amounts Order & prepare	Rate Order - Prepare	1.00

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5

INVOICE # A2203

February 11, 2022

AMPCO Thomson Building 65 Queen Street West, Suite 1510 Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Ontario Power Generation 2022 to 2026 Payment Amounts

Board File No. EB-2020-0290

Description	Charge Type	Hours	Rate	Amount
Professional Services of				
Shelley Grice	Review Application	20.50	\$330.00	\$6,765.00
	IR Preparation	63.00	\$330.00	\$20,790.00
Sub-Total				\$27,555.00
HST on Services				\$3,582.15
Disbursements				
HST on Disbursements				
GST # 817042757RT000	1	83.50	TOTAL	\$31,137.15

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5

INVOICE # A2204

February 11, 2022

AMPCO Thomson Building 65 Queen Street West, Suite 1510 Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Ontario Power Generation 2022 to 2026 Payment Amounts

Board File No. EB-2020-0290

Description	Charge Type	Hours	Rate	Amount
Professional Services of				
Shelley Grice	Review IR Responses	34.50	\$330.00	\$11,385.00
	Other Attendance	3.75	\$330.00	\$1,237.50
	Issues List Preparation	1.50	\$330.00	\$495.00
	Issues Conf Attendance	3.75	\$330.00	\$1,237.50
	Tech Conf Preparation	19.25	\$330.00	\$6,352.50
	Tech Conf Attendance	28.00	\$330.00	\$9,240.00
	Motions Preparation	6.00	\$330.00	\$1,980.00
	Motions Attendance	3.00	\$330.00	\$990.00
	ADR Preparation	31.00	\$330.00	\$10,230.00
	ADR Attendance	37.75	\$330.00	\$12,457.50
	Settlement Proposal	4.25	\$330.00	\$1,402.50
	Oral Hearing Preparation	29.25	\$330.00	\$9,652.50
Sub-Total				\$66,660.00
HST on Services				\$8,665.80
Disbursements				
HST on Disbursements				
GST # 817042757RT0001		202.00	TOTAL	\$75,325.80

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5

INVOICE # A2205

February 11, 2022

AMPCO Thomson Building 65 Queen Street West, Suite 1510 Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Ontario Power Generation 2022 to 2026 Payment Amounts

Board File No. EB-2020-0290

Description	Charge Type	Hours	Rate	Amount
Professional Services of				
Shelley Grice	Oral Hearing-Attendance	22.50	\$330.00	\$7,425.00
	Written Submissions	38.75	\$330.00	\$12,787.50
	Decision-Review	2.25	\$330.00	\$742.50
	Rate Order	1.00	\$330.00	\$330.00
			\$330.00	\$0.00
Sub-Total				\$21,285.00
HST on Services				\$2,767.05
Disbursements				
HST on Disbursements				
			_	_
GST # 817042757RT000 ⁻	1	64.50	TOTAL	\$24,052.05

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.